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WHICH OF THE FOLLOWING STATEMENTS IS CLOSEST TO YOUR POINT OF VIEW?

STATEMENT ONE:

The main reason the State supports marriage is to promote the happiness and well-being of the married couple.

STATEMENT TWO:

The main reason the State supports marriage is to help parents raise children.

To raise children

57%

To support
married couple

28%
No difference/
Don’t know

15%



DO YOU AGREE/DISAGREE WITH THE FOLLOWING STATEMENT?

In most cases, the absence of a father from the home is likely to harm 
a child emotionally or developmentally.

AGREE:

54%

DISAGREE:

29%
NEITHER

OR
DON’T KNOW:

17%
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DO YOU AGREE/DISAGREE WITH THE FOLLOWING STATEMENT?

The State should support policies that encourage mothers and fathers to stay together.

AGREE:

56%

DISAGREE:

27%
NEITHER

OR
DON’T KNOW:

17%
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DO YOU AGREE/DISAGREE WITH THE FOLLOWING STATEMENT?

I believe it is better if the parents of a child are married.

AGREE:

52%

DISAGREE:

29%
NEITHER

OR
DON’T KNOW:

19%
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DO YOU AGREE/DISAGREE WITH THE FOLLOWING STATEMENT?

While all families should be given some support by the State, the State should nonetheless continue
to support marriage over other family forms.

AGREE:

45%

DISAGREE:

34%
NEITHER

OR
DON’T KNOW:

21%
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DO YOU AGREE/DISAGREE WITH THE FOLLOWING STATEMENT?

Marital and family breakdown are harmful to society.

AGREE:

58%

DISAGREE:

27%
NEITHER

OR
DON’T KNOW:

15%

Conducted by Lansdowne Market Research. Sample size 950. Margin of error +/– 3.3%



Conducted by Lansdowne Market Research. Sample size 950. Margin of error +/– 3.3%

WHICH OF THE FOLLOWING STATEMENTS IS CLOSEST TO YOUR POINT OF VIEW?

STATEMENT ONE:
The tax system should tax people as individuals and take no account of whether they are married and/or have children.

STATEMENT TWO:
Tax should be reduced for families with children in order to ease their financial burden.

STATEMENT TWO

80%

STATEMENT ONE

16%

Don’t know/
Neither 4%


